
Հաշվի՛ր արտահայտության արժեքը 
(72507 + 56736) : (350 – 347) =43081
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560000 : 100 ∙ 8 =44800
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483042 : 6 ∙ 8 – 8044 =636012
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4 ∙ (932 + 17692) : 6 =12416
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500 + (600 – 3 ∙ 100) : 10 =530
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60997 + (6012 + 6228) : 3 =65077

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	6
	0
	1
	2
	
	
	1
	2
	2
	4
	0
	3
	
	
	
	
	
	6
	0
	9
	9
	7
	

	+
	6
	2
	2
	8
	
	
	1
	2
	
	
	
	4
	0
	8
	0
	
	+
	
	4
	0
	8
	0
	

	1
	2
	2
	4
	0
	
	
	
	0
	2
	4
	
	
	
	
	
	
	
	6
	5
	0
	7
	7
	

	
	
	
	
	
	
	
	
	
	2
	4
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	0
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



485 ∙ 2 + 485 ∙ 3 =2425
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9805 + 14651 : 7 =11598

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	1
	4
	6
	5
	1
	7
	
	
	
	
	
	9
	8
	0
	5
	
	
	
	
	
	
	

	
	
	1
	4
	
	
	
	2
	0
	9
	3
	
	+
	2
	0
	9
	3
	
	
	
	
	
	
	

	
	
	
	0
	6
	5
	
	
	
	
	
	
	1
	1
	8
	9
	8
	
	
	
	
	
	
	

	
	
	
	
	6
	3
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	2
	1
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	2
	1
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	0
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



82213 ∙ 3 – 12240 : 3 =242579
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(40179 – 15395 : 5) ∙ 4 =148400
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11140 : (2076 – 2066) : 2 =557
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900100 – (735 – 184) ∙ 8 =895532
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